## EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch No. 5 Ditch No. 53.

	(1)	(2)	(3)	(4)	(5)	(6)		(7)	
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Includi and Expenses of Inspecting Wor With Total Per Se	k until Completed	Total Estimated Cost per Section	
					S CTS.		\$ CTS.	\$ CTS.	
Between Stake No. 0.	4.0 ft.	4.0 ft.	12.0 ft.						
and Stake No. 1.	4.4	4.0"	12.8 "	127.7	10	\$ 12,77	-2 00	\$ 14 77	
Between Stake No. 2.	4.3	4.0	12.6	134.5	10	13.45	2 00	15 45	
and Stake No. 3.	4.1 "	4.0	127.4	127.4	10	12.74	2 00	14 74	
Between Stake No. 4.	4.2	4.0 "	12.4 "	125.2	10	12.52	2 00	14 52	
and Stake No. 5.	4.6	4.0 "	13.2	137.0	10	13.70	2 00	15 70	
Between Stake No. 6.	4.4 "	4.0	1.2.8 "	141.8	10	14.18	2 00	<b>16 1</b> 8	
and Stake No. 7.	4.2 "	4.0 "	12:4 ",	132.5	10	13,25	2 00	15 25	
Between Stake No. 8.		4.0 "	12.2 "	125.2	10	12.25	2 00	24 52	
and Stake No. 9.	4.0 "	4.0 "	12.0 "	120.7	10	12.07	2 00	14 07	
Between Stake No. 10.	4.2	4.0	12.4 "	123.1	10	12.31	2 00	14 31	
and Stake No. 11.	4.1 "	4.0	1.2 2 "	125.2	10	12.52	2 00	14 52	
Between Stake No. 12.	3.7	4.0	11.4 "	114.2	10	11.41	2 00	13 42	
and Stake No. 13.	3.8 "	4.0	11,6	89.1	10	8.91	2 00	10 91	
Between Stake No. 14.	4.0	4.0 ".	12.0	114.1	10	11.41	2 00	13 41	
and Stake No. 15.	4.1 "	4.0 "	12.2 "	120.1	10	12.01	2 00	14 01	
Between Stake No. 16.	4.0	4.0 "	12.0 "	120.1	10	12.01	2 00	14 01	
and Stake No. 17.	5.0 "	4.0	14.0 "	142.6	10	14.26	2 00	16 26	
Between Stake No. 18°	4.7 "	4.0 "	13.4 "	159.0 "(	10	15,90	2 00	17 90	
and Stake No. 19.	5.1 "	4.0 "	14.2 "	161.5	10	/ 16,15 ·	2 00	18 15	
and the second s	- as benefits assistant thousand the control gradies and control	The second secon		2,441.0	***************************************	\$ 244.10		. 0-2.10	

## EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in branch No. 5 Ditch No. 53.

	(1)	(2)	(3)	(4)	(5)	(6)	1	(7)	
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM		NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Prelimin and Expenses of Inspecting Work until Com With Total Per Section		Total Estimated Cost per Section	
					\$ CTS.		\$ CTS.	<b>. \$ C</b> T	
Between Stake No. 20.	5.2 ft.	4.0 ft.	14.4 ft.	178.5	10	\$ 17.45	-2 00	\$ 19 4	
and Stake No. 21)	5,5*,	4.0 "	15.0 "	185.3	10	18.53	2 00	20 5	
Between Stake No. 22.	5,6 "/	4.0	15,2 "	196.3	10	19.63	2 00	21.6	
and Stake No. 23.	5.8 *	4.0."	14.6 "	190.8	10	19,08	2 00	21 0	
Between Stake No. 24.	5.3 *	4.0 "/	14.6	182.6	10	18.26	2 00	20 2	
and Stake No. 25.	4.2 *:	4.0 "	12.4 "	155.1	1.0	15.51	2 00	17 5	
Between Stake No. 26.	4.3 "	4.0 "	12.6 "	129.8	10	12.98	2 00	17 9	
and Stake No. 27.	4.1 "	4) 0 "	1242 "	127.5	10	12.75	2 00	14 7	
Between Stake No. 28.	4.8 "	4.0 "	13.6 "	139.7	10	13.97	2 00	15 8	
and Stake No. 29.	5.8	4.0 a. ".	14.6 "	169.1	10	16.91	2 00	18 8	
Between Stake No. 30.	5.4 "	4.0 "	14.8 "	180.0	10	18,00	2 00	20 0	
and Stake No. 31.	5.7 s.*·	4.0 "	15.4 "	196.4	10	19.64	2 00	21 64	
Between Stake No. 32.	5.7 "	4.0 "	15.4 "	204.8	10	20,48	2 00	22 48	
and Stake No. 38.	5.7 "	4.0 "	15.4 "	204.8	10	20.48	2 00	22 48	
Between Stake No. 34.	5,6 "	4.0 "	14.6 ."	184.4	10	18.44	2 00	20 4	
and Stake No. 35.	5.3 "	4.0 "	15.2 "	190.8	10	19,08	2 00	21 0	
Between Stake No. 38.	5,2 "1	4.0 "	14.4 "	188.1.	10	18.81	2 00	20 83	
and Stake No. 37.	5,4 "	4.0 "	14.8 "	182,6	10	18,26	2 00	2 0	
Between Stake No. 38.	5,8 .*	4.0 "	15,6 "	199.2	10	19.92	200	21 9	
and Stake No. 39.	6.6 "	4.0 "	17.2 "	234.8	10	23,48	2 00	25 4	
			***************************************	3,616.6		\$ 361.66	\$ 40,00	\$ 401.66	

## EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Page. No. 3.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in Branch No. 5 Ditch No. -- 53. --------------

		(1)	(2)	(3)	(4)	(5)	(6)		(7)	
SECTION		DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP		Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Pr and Expenses of Inspecting Work unt With Total Per Section		Total Estimated Cos per Section	
						<b>\$</b> СТS.		\$ CTS.	<b></b>	Ст
Between	Stake No. 40.	6.8 ft.	4.0 ft.	17.6 ft.	265.5	10	\$ 26.55	2 00	\$ 28	5
and	Stake No. 41.	7.1	4.0 "	18.2 "	282.0	10	28,20	2 00	30	2
Between	Stake No. 42.	8:.0 .: "(	4.0	20.0	323.7	10	32.37	2 00	34	٤ 3
and	Stake No. 43.	<b>7</b> 3 **	4.0	. 18.6 . "1	330,5	10	33,05	∴ <b>2</b> : 00	35	5 0
Between	Stake No. 44.	6.9	4.0 "	17.8 "	292.0	10	29,20	2 00	31	2
and	Stake No. 45.	7.0	4.0	18.0 "	281.9	10	28,19	2 00	30	) :
Between	Stake No. 46.	7.0 .*,	4.0	18.0 "	285,2	. 10	28,52	2 00	30	) [
and	Stake No. 47.	7.3	4.0 "	18.6 "	295,3	10	29,53	2 00	31	L !
Between	Stake No. 48.	7.3 **	4.0 "	18.6 "	30 <b>5</b> .5	10	30.55	2 00	32	3
and	Stake No. 49.	7.4 ",	4.0"	18.8 ."/	309.0	10	30,90	2 00		3
Between	Stake No. 50.	7.4: "	4.0	18.8 @	312.4	10	31.24	2 00	38	3
and	Stake No. 51.	7.0	4.0 ."	18.0 "	298.8	10	29,88	2 00	31	1
Between	Stake No. 52.	7.0	4.0	18.0 "(	285.2	10		2 00	30	)
and	Stake No. 53.	7.3 "	4.0 "	18.6 "	295.3	10	29,53	2 00	31	1
Between	Stake No. 54.	7.3 "(	4.0	18.6 "	302.1	10	30,21	2 00	32	2
and	Stake No. 55.	8.3 "	4.0 "	20.6 "	336.5	10	33.65	2 00	35	5
Between	Stake No. 56.	8.0 */	4.0	2.0.0 "	366,8	10	36,68	2 00	38	3
and	Stake No. 57'.	7.8 "	4.0	19.6	348.2	10	34,82	2 00	36	6
Between	Stake No. 58.	7.9 "	4.0	19.8 2	<b>3</b> 44.5	10	34.45	2 00	36	6
and	Stake No. 59.	8.1	4.0 "(	20.2 "	355.6	10		2.00	37	MY WE
		it		e	6,216.0		\$ 621.60	\$ 40.00	\$ 661	./

Ratural # 2 A Branch # 5- & Main Detal Miller-Davis Patring Co. Mrg. Stationers, Minneapolis, Minn.

## EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in \_\_\_\_\_\_Ditch No.\_\_\_\_\_\_\_\_

	<b>(1)</b>	(2)	(3)	(4)	(5)	(6)		(7)	
SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Preliminary Expenses and Expenses of Inspecting Work until Completed With Total Per Section		Total Estimated Cost per Section	
					\$ CTS.		\$ CTS.	\$ CTS.	
Between Stake No. 0.	5.0 ft.	4.0 ft.	14.0 ft						
and Stake No. 1.	5.8	4.0 ."	15.6 "	177.3	10	\$ 17.73	d2 700pp	d 19.73	
Between Stake No. 2.	4.7	4.0 "	13.4 "	169.7	10	16.97	2 00	18.97	
and Stake No. 3.	4.7 "	4.0 "	13.6	125.7	10	12.57	2 00	14 57	
Between Stake No. 4	4.7 "	4.0 "	13,4 "	125.7	10	12.57	. 2 00	14 57	
and Stake No. 5.	4.7 "	4.0 "	13.4 "	125.7	10	12.57	2 00	14 57	
Between Stake No. 6.	4.5	4.0 *	13.0 **	146.3	10	14.63	2 00	16 63	
and Stake No. 7.	4.8 "	4.0 "	12.6 "	136.8	10	13,68	2 00	15 68	
Between Stake No. 8.	4.3	4.0 "	12.6 "	132.1	10	13.21	2 00	15 21	
and Stake No. 9.1	4.5	4.0 "	13.0 "	136.8	10	13.68	2 00	<b>1</b> 5 68	
Between Stake No. 10.	5,4' "	4.0 "	14.8 "	164.8	10	16.48	2 00	18 48	
and Stake No. 11.	4.3 "	4.0	12.6 "	160.1	10	16.01	2 00	18 01	
Between Stake No. 12.	4.1 "	4.0 "	12.2 "	127.5	10	12:.75	2 00	14 75	
and Stake No.13.	4.5 "	4.0 "(	13.0 ",	132.3	10	13,23 <sup>-</sup>	2 00	15 23	
Between Stake No. 14.	4.6	4.0	13.2	134.1	10	13.41	2 00	15 41	
and Stake No.15.	4.8 ."	4.0 "/	13.6 "	160.0	10	16.00	2 00	19 00	
Between Stake No. 16.	5,3 . ":	4.0 "(	14.6 "	169.5	10	77 . <b>16.95</b>	2 <u>_0</u> 0	18.90	
$and\ Stake\ No.$				2,324.4		\$ 232.44	\$ 32,00	\$ 264.44	
Between Stake No.								OTER LIBOUR MANAGEMENT OF THE STATE OF THE S	
and Stake No.								Money	

Fateral #/ MB rauch #5 Mmain Ditch #53 into Co. Mrg. Stationers, Minneapolis, Minn.

# EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

lage 1

Showing Estimated Depth of Cut, Width, No. of Cubic Yards Removed and Cost of Same, in \_\_\_\_\_\_Ditch No.

				•		e <sub>x</sub> ·		
SECTION	ON DEPTH OF CUT		(3)  CUT WIDTH OF CUT  M AT TOP	(4) NO. OF CUBIC YARDS TO BE REMOVED	(5) Estimated Cost Per Cubic Yar	(6) Character of Other Expenses, Inclu and Expenses of Inspecting W With Total Per	Vork until Completed	(7) Total Estimated Cost per Section
					\$ CTS.		\$ ств.	\$ CTS.
Between Stake No. 0.	4.9 ft.	4.0 \$t.	13.8 ft.					
and Stake No. 1.	4.8	4.0	13.6 "	158.6	10	\$ 15.86	2 00	\$ 17 86
Between Stake No. 2.	4.5 "/	4.0 "	13.0 "	149.1	10	14.91	2.00	16.91
and Stake No. 3.	4.4 "	4.0 "	12.8 "	139.3	10	13.93	2 00	15 93
Between Stake No. 4.	4.4	4.0 "	12.8 "	133.5	10	13,35	2 00	<b>1</b> 5 35
and Stake No. 5.	5,1	4.0 "	14.2 "	154.4 1554.4	10	15,44	2 00	17 44
Between Stake No. 6.	4.7	4.0 "	13.4	161.6	10	16.16	2 00	18 16
and Stake No. 7.	4.1 "	4.0	12.2	235.3	10	13.53	2 00	15 53
Between Stake No. 8.	5.1 "	4.0	14.2	147.4	10	14.74	2 00	16 74
and Stake No. 9.	5,1 "/	4.0 ",	14.2 "	171.9	10	17.19	2 00	19 19
Between Stake No. 10	5.1 "	4.0 "	14.2 "	171.9	10	17.19	2 00	19 19
and Stake No. 11.	4.9	4.0	13.8 "(	166.7	10	16,67	2 00	18 67
Between Stake No. 137.	5.4 "	4.0 "	14.8 "	174.8	10	17.48	2 00	19 48
and Stake No. 18.	5.9 "	4.0 ".	15.8	202.1	10	20,21	2 00	22 21
Between Stake No. 18.	6.2	4.0	16.4 "	225.3	10	22.53	2 00	24 53
and Stake No. 18.	7.4	4.0 ",	18.8	273,3	10	27.33	2 00	29 33
Between Stake No. 18.	4.9	4.0	13.8 "	237.0	10	23,70	2 00	25 70
and Stake No. 17.	4.7 "	4.0 "	13.4 "	156.4	10	15.64	2 00	17 64
Between Stake No. 18.	4.9	4.0 "	13.8 ."	156,4	10	15,64	5,00	17_64
and Stake No.				3,115.0		\$ 311,50	\$ 36.00	347.90

Total Estimated Cost of Whole Work

Miller-Davis Printing Co. Mfg. Stationers, Minneapolis, Minn.

Rateral #1 & Branch #5 & Main Witch #53

### EXHIBIT 2 OF ENGINEER'S REPORT IN DITCH PROCEEDINGS.

Page V

		(1)	(2)	(3)	(4)	(5)	(6)		(7)	
	SECTION	DEPTH OF CUT	WIDTH OF CUT AT BOTTOM	WIDTH OF CUT AT TOP	NO. OF CUBIC YARDS TO BE REMOVED	Estimated Cost Per Cubic Yar	Character of Other Expenses, Including Prelimir and Expenses of Inspecting Work until Con With Total Per Section	ary Expenses opleted	Total Estimated per Sect	d Cost
						\$ CTS.		\$ CTS.	\$	стѕ.
	Between Stake No.19.	4.9 ft.	4.02ft.	13.8 ft.	161.5	10	-\$-16.15	2 00	. 18	15
	and Stake No. 20		4.0 "	15.0 "	177.5	10	17.75	2 00		75
	Between Stake No. 21.		4.0	14.6	188.0	10		2 00	20	
	and Stake No.	57 5.0 ft.	4.0	14.0	99,5	10		1 00	10	95
	Between Stake No.				626.5		\$ 62.65	\$ 7 00	\$ 69	65
	$and\ Stake\ No.$	1								
	Between Stake No.									to a confident former or a second for the confidence of the confid
	$and\ Stake\ No.$									
	Between Stake No.			•						management of the control of the con
	and Stake No.			•						
	Between Stake No.									
	and Stake No.									
	Between Stake No.			Quanto Control (Prince)		domining the second sec				
	$and\ Stake\ No.$			,			M-1			The second secon
	$Between\ Stake\ No.$					Activities and the second seco				
	and Stake No.									
	Between Stake No.									en propinsi e en en e en en en propinsi de en
	and Stake No.					10000000000000000000000000000000000000				
	Between Stake No.									on the same of the
	and Stake No.					· ·				